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CHEMISTRY 101

FIRST EXAM (132)

—— Name: Date: 19/3/2014
Student no. Section:
Useful Information: Avogadro’s number = 6.02 x 10%
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. Choose the correct answer:

e The metalloid among the following (Sn, Sb, Ga, Al)is.........c.cooviiiiiiiiiin..
e The element which has similar properties to carbon among the following (B, Be,

e The transition metal among the following (Ge, K, N, Hg) is..........cocevvininnn..
e The alkali metal amomg the following (Cs. Sc, Cu, Al)is......cccoviviiiiiininnnn..

. A monatomic ion of an element has 23 electrons. If one isotope of this element has the
mass number of 54 and 28 neutrons. What is the symbol of this ion:

a) Ni** b) S¢**  ¢) Fe* d) Fe*

. Assuming all numbers are measured quantities, perform the following arithmetic and give
the answer in scientific notation rounded to the proper number of significant figures:
(19.46 — 8.5) x 0.05 =?

a) 55x10* b) 5.48 x 10™ c) 5x10* d) 6x 10"

. The element Magnesium (Mg) has three stable isotopes: Mg, Mg, and *®Mg. If the
masses and the abundances of two of them are given as the following: **Mg (23.9850
amu, 78.99%), Mg (24.9585 amu, 10.00%). Calculate the mass of the third isotope

°*Mg):

. A compound composes of two elements which are Sulfur (S) and Oxygen (O). If the
percent composition of sulfur in the compound is 50%, what is the empirical formula of
the compound:

a) SO b)SO, ¢©)SOs d) SO,

. A metallic rectangular prism has the mass1.52 g and the dimensions of: Base (b) =5.5
mm, height (h) = 6.8 mm, and length (1) = 9.9 mm. Calculate the density of the prism in
(g/mL.) Given that the volume of prism = bhl:

a) 821  b)80 ¢ 8 d) 411

. Write the chemical formula for each of the following compounds:

o Diammonium sulfide. ..o
e Barium hypochlorite. ... .. ..oooiniiiii
®  AlUMINUM ACELALE. ... .utintt ittt ettt et et



8. Write the name of the following compounds:

L C8H18 .......................................................................................................................
o ngoz ...........................................................................................
0 CUCT IO, 2H 0 o e

9. The sum of all coefficients (reactants and products) in the chemical reaction which

10.

11.

12.

represents the combustion of glucose (CgH120) is:

a) 19 b) 18 c) 22 d) 13

Which of the following has the largest number of hydrogen molecules:

a) 1.2 g of BoHg b) 1.0gof C;Hys  c¢) 4.0gof H,S d) 1.0gof CH,

Diborane, B;Hs, is manufactured according to the following equation:

3 NaBHy(s) + 4 BF3(g) — 3 NaBF4(s) + 2 B2Hs(g)

When 26.5 g of NaBH, and 45.6 g of BF3; were mixed the percentage yield of B,Hg
was 80%. Depending on this information answer the following questions:

Calculate the experimental mass of B,Hg which was obtained from the previous
(T o1 o) o FO

A 1.5 g sample of a compound composed of chromium (Cr) and chlorine (CI) was reacted
with silver nitrate (AgNO3). This converted all chlorine in the sample into 4.072 g of

silver chloride (AgCl). What is the empirical formula chromium chlorine compound:

a) CrCl b) CrCl, c) CrCl; d) Cr.Cls
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